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Questions 1 to 3 carry 1 marks each. Questions 4 to 8 carry 2 marks each. For
each question, four options are given. One of them is the cortrect answer. Make
your choice (1, 2, 3 or 4) and write your answer (1, 2, 3 or 4) in the bracket ( )

provided.

{7 marks)

1 Find the value of 6 400 000 + 400

1)

3
(4)

1 600 000
160 000
16 000

1600



Find the value of 2 x 24 ~ (24 -8 + 2) + 4

(1 7

(2 10
{3y 43
(4) 46

4
Find the value of 6 x 5

2
(1) 57
27
(2) 5
3
(3) B
, 8
(4) 3



There were 5{ of orange juice in the fridge.

John drank 2¢ of the orange juice.

2
Paul drank zas much orange juice as John.

How much orange juice was left in the fridge?

21
(M "5"3
23{?
(2) 3
4
() 2g¢
41
(4) 4zt

The first 22 numbers of a number pattern are given below.

5,0,3,45,0,50,3,4,5,0,50,3,4,50,50,3, 4, ...
15t 22nd

Find the sum of the first 88 numbers.

(1) 242
(2) 250
(3) 252
(4) 264



Questions 6 to 8 carry 1 mark each. Write your answers in the spaces provided,
For questions which require units, give your answers in the units stated.

{3 marks)
6 Write eight hundred and nine thousand and seven in numerals.
Ans:
7 Find the value of 46 + 8. Express your answer as a mixed number.
Ans:
E 3 ! decimal
Xpress o0 @S @ decimal.
Ans:




Questions @ to 13 carry 2 marks sach. Show your working clearly and write
your answers in the spaces provided. For questions which require units, give
your answers in the units stated.

{10 marks)

9 Mr Tan saves $1500 each month. How much does he save in 30 years?

Ans: $

18 Ali and Bob were at a carnival. Ali had 25 500 tokens. Ali had 3 times
as many tokens as Bob. Al gave some tokens to Bob. At the end, Ali
and Bob had the same number of tokens. How many tokens did Ali give
to Bob?

Ans:




3
11 A room measures :1- m by 6 m. Find the area of the room.

Express your answer as an improper fraction in its simplest form.

Ans: me

6
12 Ming had some cookies at first. He sold = of the cookies. He then baked

1
another 3 of what he originally had at first. He had 1512 cookies at the

end. How many cockies did Ming have at first?

Ans:




13

The sum of the perimeter of two different squares is 40 cm.
The difference between the area of the two squares is 40 cm?2.
Find the length of the larger square.

Ans:

cm

End of Paper
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